(© Educate.ie)

SAMPLE PAPER 7: PAPER 1

QUESTION 1 (25 MARKS)

Question 1 (a) (i)

First 10 natural squares: 1, 4, 9, 16, 25, 36, 49, 64, 81, 100
Question 1 (a) (ii)

Consecutive numbers: n — 1, n

Consecutive squares: n°, (n+1)*

-1 =n*-m*-2n+)=n"-n"+2n-1=2n-1

2n is always an even number
2n — 1 is always an odd number

Question 1 (b) (i) Question 1 (b) (ii) Question 1 (b) (iii)
12+22=2><3><5 12+22+32:3X4—><7 12+22+32+42=4><5><9
144 =30 1449 =27 1+4+9+16 =130

6 14 =14 6
5 =5 30 =30

Question 1 (b) (iv)
_10x11x21

P+2" 43447 +......+10° =5x11x7 =385
Question 1 (¢) (i) Question 1 (c¢) (ii)
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